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1. oo e Uey fm ) ww e I
%%@ : 1x8=8
Answer the following/Choose the correct
answer :

(@) PR (IOl TN 9 T2

Which of the following is not
a progressive tax? |

(i) TFF{/Income tax
(ii) THZR F9/Gift tax
(iii) R& 33 /Sales tax
(iv) {8 34/ Wealth tax



(b) SHIFA I 61 Twrzde e |

Give an example of non-tax revenue.

(c) IW Torg swol 2

What is vertical equity in taxation?

(d) SR (FICO! oTF T 42 ?
Which of the following is not a direct
tax?
(i) SRR

Income tax

(i) A& 9

Sales tax

(iii) TIRI 9

Gift tax

(iv) =& 3
Wealth tax



(e) T ey >1TW, (A FR @

If e; > 1, then the burden of tax will
be

(i) @FOR 8IS @ART 7

higher on buyers

(i) Rerer evme @Rl 47

higher on sellers

(iii) (ol W% Frror Tes el ]
upon buyers and sellers equally

(iv) 89 OIS T
None of the above

() IR @R SRR & oIE 2

What do you mean by shifting of tax
burden?

(g) @IS TR @bl Tz

Give an example of merit goods.

(h) ©FS HERE ARFEA MRge T T
. e | -

Name two items of mnon-plan
expenditure of Indian Government.



2. v R @ wiReR 5y G o (efc
150 %y foo¥e) : 4x4=16

Write short notes on any four of the
following (within 150 words each) :

(a) TEEIE JfRfoe vI e g

Role of public finance in developing
economy

(b) SERERE oPTe 99 SR

Objectives of taxation in developing
countries

(c) <ERdl @
Public goods
(d) &2 ] @
Burden of public debt
(e) ©ROT FT IGER SORIDTR

Defects.of Indian tax system

o PR T8 e (21 500 *1 o) -

- Answer ‘the following questions (within
500 words each) :

3. (@) SHREE AMRE RY TEn! [ FAA|

SHifde T fREr A s Ao

R SR PTRS RN Seers #91 |
6+5=11



(b)

(a)

(b)

Explain the ‘maximum  social
advantage’ theory. Discuss the
objectives  for  achieving  the
condition of ‘maximum  social
advantage’.

&</ Or
=R Re e 2 e e [em
TYRHE QY I 90 2+9=11

What is public finance?  Explain the
importance of public finance study.

What do you.mean by tax policy?
Explain Adam Smith’s canon of
taxation.

ST / Or
F99 IPfGe, TWHEY WF S e

@2 TR GF O TP T oS

@ (@O TF R@FOR oo oY W,
fodg =Rl A A | '3+8=11

What do you mean by impact,
shifting and incidence of tax? Explain
with diagram, how according to
the modern theory of taxation,
incidence of tax is distributed

between the buyers and sellers.



S.. (a)

(b)

6. (a)

(b)

SRR AR e Sz 3 R e
Wwwmmqmmwméé
+6=12

What are the main objectives of
public expenditure? Give reasons for
rapid increase of public expenditure
in modern State.

9241 / Or

SRR AR P71 Some iR R 2 5t 4
AN TARPTYRY R SCED 41 |
| 4+8=12

What are the main objectives of
public debt? Discuss the methods
of repayment of public debt.

TP ACHDY Sy 2 SO AW
Rfen [Pz =CEs- <54 | 4+7=11
What are the purposes of government

budget? Discuss the different stages
followed in preparation of budget.

&34/ Or

e Ao 57 Tmem weAfse
IR AT PR ST{(F S 4 |
~ 3+8=11

What is fiscal policy? Discuss the
role of fiscal policy in developing
economy.



7. (a) SR I I R0 (2B Bran 1 oa@i
39 IRER O req $fRats sae
BIFICT A2 I CIROM “Memoy gy ol
(O fora | 3+8=11

Write three characteristics of Indian
tax system. Write a note on the
latest tax reform to overcome the
defects of Indian tax system:.

&e<T / Or
(b) TITST Sov 7S A, AT BRI
A 41 | | | 11

Discuss on the recommendations of
Fourteenth Finance Commission of

India.
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